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(3) A
| AT - I/PART - I
919 {919 ud {119/ CHILD DEVELOPMENT AND PEDAGOGY
Fder : Frforee geat & gov @7 % g qag afEad ey g

Direction : Answer the following questions by selecting the most appropriate option.

1. feieaeen o e # ed 34 3 e 1. To cooperate the adolescent it is
HETH & essential to
(1) SIFErRen (1) Inspire
(2) TR BT (2) Indicate his mistakes
(3) TS HTAT . (3) Criticise him
(4) THUHG HFeR FAT (4) Do negative behaviour
2. % 9% B AECIHTT o FHTEH &N 2. Which of the following is not a
o W Frefafad # @ A9 wRfy suitable technique used by teachers
SREEN] TETR ? for socializing the child ?
(1) goae fremr | (1) Direct teaching
(2) TREHE (2) Identification
(3) SSTa=Ig SR (3) Democratic discipline
(4) SNf-HTET (4) Over-protection
3. U [T & d@a & g § Frfofad 3. Which of the following is a wrong
¥ q 777 FI9 BA-arE P . statement . about. . émotions of an
Mo adolescent ?
(1) @ s oM. &mr aRafdd (1)y Emotional =~ expressions ~ are
2 _ ed by learning.
(2) HHFT R B 2| a adns are permanent.
(3) U@ 9T § T HE@m ﬁ'sof 2t B very emotion is accompanied by
a feeling.
(4) G q> IFNA § AT Bar g (4) Emotions are aroused by external
stimuli.
4. TRfRT fer ¥ o & 4. Inclusive education means
(1) AfFEE Breast $i e Ha-se (1) Meeting individual differences in
| QU ST general classroom. .
(2) R RareT @ fafeT Hem-ae (2) Meeting individual differences in
e 0 BT different classroom. .
(3) AT et & fafiree et | (3) Meeting individual differences in
q T ST special schools.
(4) AfFTd forraretl @ 2X W C’ﬂ%ﬁﬁ (4) Meeting individual differences in
EETy QU BT home based instruction.

Level-3/165 P.T.O.



5. FeMEeEn # a@er 7 W W gEd

T gA19 9T §
(1) R

(2) Hrar-far #r
(3) wh-aiEt &
(4) T@rE

6. ®El ¥ fow gt & gl w9 A R

fopar s wFar 8, 3R s

(1) -9 g4t & a1 |
(2) @E IT X ST H
(3) Wer ARl i FerlEl g |
(4) E-gareT F AT F2 |

7. [RTors fom &R § 3 drgan oix

P fFET F0 § gens B, o 2
(1) ¥ AT W& B |

(2) SR e, e, e ok

Frepd feprar |
(3) FB ITF HA T T FHE |

(4) wiciear & Rt & fes s
8. fEd Sl e &

ZFER %I Hay fafy &
(1) =T (2) STEEE
(3) W= (4) TS

9. Frifafled § @ @@ Resliaen ¥

qrEToTE Qe & awe 787 & ?

(1) 399 99 TqF B F GHT gl
B

(2) faudia foim & ufey amrdor &
(3) NN dadt F 9t F9 A

(4) fafree Rl 7 o @

Level-3/165

(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(8)..creating and
something.

constructing

4) thinking about ways of reacting.
d aethod of dealing with adolescent
nts and teachers is

(1) Autocratic (2) Permissive
(3) Democratic (4) Restrictive

Which of the following is not a

characteristic of social development in

adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High
relationship

decrease in friendly

(4) Extension of special interests



10.

11,

12.

13.

. 14,

(5)

% BRI o 9 'Y @ FE F o
N @ AW @ foreen, 36 e @
HT

(1) AT FTER

2) s JFger

(3) A e

(4) gt e a2 &

G SR TR i

(1) g8 a9 8
(2) Tl & e e @

(3) W I (Wa) g A
(4) TR T FE A

T AR FWE g (CCE) &

I §

(1) Faq a0 B THA B gD
FEA|

2) R & all W 1 geieT B |

(3) Fa B & S H GediHT B |

(4) %ac S I GHH BN GEDT B |

frfofeg & | F9-8 gore
I faSiyar (Frga) 787 € ? ama

(1) feman
(2) WifereRar

(3) faggam
(4) TG

e afoe AR @
(1) 9% % FEer & & awn qRe |

(2) R @ R GREE ¥ oftgdg)
(3) WIegaR] F GRHSH |

(4) WETAR] B T S|

Level-3/165

10.

11.

12,

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1) Speaking accurately
(2) Writing
mistakes

without committing

(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) .The knowledge of child only.

(4) The understanding of child only.

the following is not a trait
f a creative child ?

(1) Elaboration
(2) Originality
(8) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the
matter.

(4) Completion of content.

subject-

P.T. 0.
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15.

16.

17,

18.

a1 frdder fhe w A B 7

(1) =2 3 59 % g9
(@) AvEEEr F ARE

(3) freMEen & ARm
(4) JF@EET B A

Y L O g g
ﬁﬂﬁrﬁaa% 7§ HE-H gEYH IUgE
TR 7

(1) Il Araarett & e BT a9 |

(2) JUgH gl A Al Iuder
ST =ife |

3 ﬁﬁ%(ﬁ)mhﬂml
(4) AFRTREN Afvard Fw T
fpat & @y, Eﬁqm% AT

Pl & o F F9 wng Fr SR
TR ?

(1) STRIEAES 39T
(2) SIiEF SYFRT
(3) dafed IurM
(4) oTES I
AR FEE WeEql g @
e &l @

(1) 9% & AaeTF B o

(2) 9% % AW [Gag o
(8) 9% & TR foey ¥
(4) 9% & \itphos fawrg §

Level-3/165

(6)

ad

15.

16.

.

Differentiation of 'emotions takes
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not suitable to meet individual
differences among learners ?

(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

3) Labelliné them. _
(4) Making Individualisation necessary.

Working with adolescents,
particularly maladjusted one, which is
nof appropriate ?

)mritical approach
mécratic approach

18.

(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1)

Emotional development of the
child

(2)
(3)
(4

Social development of the child
Physical development of the child

Cultural development of the child
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20.

21.

22,

(7)

U IR AT B ¢ drEH 3 s
F AFFL NG &, Fih

(1) 300 oA T @ § wewrd
foreret &1

2) TRgEE # UEE S H e
forerclt B 1

(@) TEEE @ A A @ wwn
qerdn e 1

(4) 3EQ G99 P F9d el o |

Fgfrs wER & olee & et |
A P fadwen 787§ 7

(1) faemar  (2) aege
(3) Il (4) AT

ffifaard @earea @ Fefiaa § @
H-d Fdwans & 7

(1) BE B AN & g S,
Prepd e ol otae el @l

T AT |
©2) T FEGHS, FEarE. SR g 2 a

(3) SAE NfERE §H BRI R
ARG B 2 |

(4) B ‘TE' I F qALT & |

Prefafag & & P9 AW & TH
geeRE® AN uauika s & maiEE
fom 2 7

(1) | %
(2) A9 & E|
(3) TR H fraw
(4) TR & fFEm

Level-3/165

19.

20.

21.

22,

A

The

learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

(2) It

interesting.

helps to make content

(3) It helps to understand the content
by simple methods.

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

()" Students ™ deSign
draws conclusions and compare
their findings.

experiments,

ledge is objective, universal
mplete.
(3) Teacher transmits authoritative '
knowledge to students.

(4) Students look for the
answer.

'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analog&
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.T.O.



24,

25,

26.

27.

(1) eﬁwﬁasﬁmwsawiﬁ

(2) T PR ety

(3) Td-Frarers arafy

(4) s Wiy arafy

TH AITH H GO H @ S 2,

HFEHE Iuay I= R oqwr qEhTE
P #1 ¥R 99K B, 9 Semeor @

(1) A=K i T
(2) I<IU RS o
(3) Ffe T

(4) "9 g FafE ot

q& ARG AFTE &3 St Fhdl SEEr
# A 0, FERE F awr qw
wﬁaﬁmwﬁ%ﬁmﬁr%

(1) . arery (2) AR
(3) tngfy (4) AR
B A A A A TEE A
& 9 € il o7 g=

(1) g e (1.Q.) Bl 1
2 M T (A.Q) & &)
(3) Higrﬁ‘ﬁafﬁ(E.Q-)E?ﬁﬁ%I
(4) Smeifers ey (S.Q.) B B

ferpre wrIe: R & ofT 9 v emrey
BRT B, e @ 7z R e &

(1) faursd /@ wwusdi

@) fﬁﬁwﬂf@ea(w%wﬁaﬂt)
(3) 9 ¥ ffdre

(4) B

Level-3/165

23.
24,

25.

-adda

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

development.

That internal state of mind that
arouses, directs and maintains
behavieur is calied as

(1) Interest (2) Opinion

) Attitude (4) Motivation
eople adjust easily with new
because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).

Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal

principle of



28.

29,

30.

o BE g qhur 3 foe #fed aRiem
FT (@ B IE far ¥ W o8 ofF
N X HeTERtEd 3 & g e R
zqea o ®

(1) o= ST

(2) S’ Ao

(3) TP Ien

(4) I=RF T & 9T

ofrrrral dfed oUW & @R d
fortfofae & & o 99 7T E T© °

(1) T8 el @ Aradien, e
A et A @ S @ 2|

(2) T8 oYY, Eaed ok @S &
e I 99 Tl 2|

(3) U8 HANEH AN S B S
TIACOT T & ol 2 |

(4) T STFHASTY- ST, - THIE,
GUAE-AARE 79 gereie-oE
S iRt # AT HEe B

Y R B TE@E qel Hl

il g d= & FGER B

Fed & 7

(1) . SRR

(2) LT

(3) STERIH

(4) T

(9)

28.

29.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation’
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

- Which of the following statements is not

correct about learner centred approach ?

(1) It takes into account learner's
capabilities,
learning styles.

capacities and

(2) It stresses the importance of

enquiry,

investigation.

(3) It emphasises  transmitting
knowledge to the learner by the
teacher.

observation and

(4) It uses methods like experiential
learning, problem solving, concept

apping and creative writing.

d's attitude 'I do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

Level-3/165
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T - IVPART - II
9T - I (&) / LANGUAGE - I (HINDI)
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31.

32,

33.

34,

35.

T fabeq F qE=t
(1) fvafs = g + i

(2) JEAER = G&d + o1
@ Tl = 5@ + &

(4) & = &M + Ay

AV’ = F BH-A g @ d 7
(1) ¥ (2 T

(3) & (4) o1g

Te BRT W B BT T A - % fo
TF 9 g

(1) e

(2) o

(3) SR

(4) STTRIT

St AR o B A e @ g o
% [0 & 9 &

(1) gfean

(2) AfmEfE

(3) Siftraufeesr

(4) TEHTFAT

Mt o=l & & @9 9= ‘@g R ?
(1) ™

(2) Frmem

(3) @I

(4) YT

Level-3/165

36.

37.

addasy+®

39.

I g oo @ F & grer wg e
39 a B @8 i B

(1) 3TE=T o
(2) BT T

(3) Hiewy Y

(4) STt

o o aifearfed #=1 & mf & gon
B - % R gw a= B

(1) PG

(2) A

(3) a9 g
(1) FAdgT

I ¥ guE @ gfe %fﬁqﬁaw

1

(2) Foe
(3) E¥Y

(4) woiER

e o= & A 5o @ 5 gm s
q 7T gem 7

(1) Foret

(2) @t

(3) Ut

(4) =rEE



40.

41.

42.

43.

A4

F gero@ gE gl ™ oA A
oI 9e G I

1 gt

(2) 9 qd

(3) TG~ g

(4) Gy qa

T B gfe | U o= A8 7
(1) =8

- (2) HgaTER G

(3) fasrger

(4) g

PIA-AT T AT Eﬁrqai'qm%ﬁ TEE 7
(1) #IEE -
(2) faferEmes

(3) @M

(4) i@

A’ = FF&T FA &
(1) [B+4a

2) T& + A

3) T5 + 9@

@) M+ 3a

Yl = N TE Gy G e
(1) Il + 39a%

(2 T + g%

(3) AFT + =X

(4) A + FeT

Level-3/165

(11)

45. T H F @ AHTT H g 7 B
(1) STEIHTOT-SHY

(2) HEWTO-TE

(3) STEIHTOT-3TeY

(4) HETITOT-3TEY

‘JHgTEr g H SUgH §EE BT
L

(1) Fadan qgsy

(2) T TYEY

(_3)%‘1@"6&

@) =g agew

‘G T T T YT T S, AT AT
7% @ T dw s — Wied &
fow @&t a7 & =E HiT

(1) FETE & ST 1 fagara

(2) T, 0, T & [T qOR g7 @
(3) ITELE aEgel § & U

46.

47.

(4) Teelt F Tt ¥ GF S
add s

(1) g

@) g
(3) TS

(4) faRar

o7y faed & g
(1) -3

(2) SEHA-HGHT
(3) I
(4) STIUT-TEY

49,

P.T. 0.



TobeTe’ fore o @ g 2
(1) o7t
(2) I
(3) S
(4) =i

50.

%I' e

®M % U 3 9= & =97 #¢

(1) I/

2 9=

(3) TF

(4) SR

e = § wiarg wm @ o 78

gam 8 ?

(1) FHER

() e

(3) ey

(4) FHATEHH

= A GRe F@m A ?

(1) e

) =g

() =m

(4) ST

gwa a7 e | g 78 gan
5

(1) THHvST

(2) R

(3) geRor

(4) Ty

Level-3/165

51.

52,

53.

54.

(12)

3

55. e TN AT = Bifey
(1) ZaaraE
2) it
(3) wHETicrR
(4) SoHIRE

3T : Fmifrea s # vt g7 g o
$8 77 g7 (797 G 56 9 60) F v Hov -

T H WO 3 yEeE olv oty &)
wH A SfREaEl o wER 89k R @
FHI G U5 21 UH W W q WO o
g o & oo Ped @ wiew e )
e o8 € ol gt ' W A ‘emgf ¥ S
W P 0F GEE B OwRE A oofe q @ ¥
A wF FAG g we 3 P § o) arn
P aE 9 £

AT FET F WO & ge d) 6dg
ﬁm%msﬁaﬁaaﬂﬁiﬁﬁaﬁtaﬂgﬁrt
TRl S R R ARdm ane @ o

‘ % & ¥ ofed R omr @
gt @1 a9 & B g
AT B WO B oWy

R & Al T g €

MF dieaelt # FRwm grEEEl @

oy Sufel & & & o A B AR G

%éhmmqa'ch?aﬁa‘ﬁaﬁﬂ'&'ﬁﬁﬂ

af aen & By B Red 3 @ o= 9

A i @ P dRE SEE e & Ry

MM HYEd % &Y ¥ @ ol o merE

R 3 el oREe @ g it

faar <= P Ao g2 @ fg s @

9| 7@ IRRE @ 9B A EE g @ e

EE-TRIEAY H el WG @ WoTIE Some

F W g7 TN MR BN FORGT aE ew



A F A @ AN F FiE debr e ge
gl TR Sy 7§ gad R # ol & a9
M e oEET o ge W e F 2
TR | oA FUT A & | AXAE T [

% 3 zq R gEfed & T fF 3% gug WU
& wq | 3@ q49q e |

I8 geaE & A WO ¥ o
Ffl qadE B BiHE Je Siedl B AN IYE
g & o ddFe Wiy B JEEE g @ |

g SREEERl & FIER AR B T

xer g o o Wil & eeduer 1 siesren
o7 | qREes IR uftei & FE T dn
W TE WA F AW W FP CE Sm
gt et g3 R gufom & e A
A @ B

T 78 gd & B onila @ FP TSN
Waell # @iEEen g6 IeE TS WY T
T WY B S | W@ HIXd H gl
Td RfEEHD B AT X IS Sl B FEA
gl FA T s [@E a9 T 8| W a8
e R et St HEN 9 O | S

&
Mo T 3 T q & A W & W @
QO Pl GeiTe GNY AR GIRAToT

o oMaEE & UG IEH [ A ¥8 § f wa
H AF | ST fFA |

56. WG TS I fadiwar @
(1) 9% WER
(2) WA oy
(3) WUW & |Y GREd
(4) wf faere @ @

(13)

dda

57. M g R & ¢
(i) ETEH TRE &
(i) TN TERE &
(iii) aof FTET F
(iv) it fower gReTT &
sfed I e @l g
(1) () T (@Qv)
(2) (i) T (iv)
(3) A (iii)
(4) HIW (ii)

AT &l Tl T Hl e/ &
1) I (2) gANE A
(3). FEON 3. . (4. 4= q

58.

q e

(3) &
(4) #fewsr #89

60. WE=AMT WG § dfes few 2

(1) s

(2) TUU FH SIS

(3) ol & FHTR § G HE
(4) =ET AR FEA

Level-3/165
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HIT - III/PART - 111

9T - 11 (3{3R)/LANGUAGE - 11 (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit |
Choose the correct suffix to form the

word. The meaning of the word is

given :

Level-3/165

64.

65.

add

66.

T don't enjoy going to the dentist.’

The word 'going' in the above

sentence 1s a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund |

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the

ark. _
(aother said us not to go to the

park.

(4) Mother said to us to not to go to
the park.

Which of the fo]lowirig expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine
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67. Choose the correct passive Direction : (Q. Nos. 70 to 74) : Select the

construction of the sentence : sentence that is grammatically correct :

Auctioneers will sell the painting at

auction. 70. (1) My brother is the student in
(1) The painting would be sold at Mayo College.
auction.

(2) My brother is student of Mayo
(2) The painting will be sold by the

auctioneers at auction.

College.

- . (3) My brother is a student in the
(3) The painting will be sold at

. Mayo College.
auction.
(4) The painting will. be selling at (4) My brother is a student in Mayo
auction. ) College.
68. Identify the figure of speech in the 71. (1) Neither of them were present
following sentence : there
I must be cruel, only to be kind.

) Neither of them was present

(1) Epigram | e.
(2) Paradox _
e

) ither of them present there.
(3) Analogy

(4) Neither of them are present

4) Metaph
(4 Metaphor there.

69. Which of the following words is mis-

spelt ? 72. (1) The roses smell sweet.

(1) incongruous | (2) The roses smell sweetly.

(2) chronological
(38) The roses are smelling sweetly.

(3) synchronus

(4) sympathetic (4) The roses are sweetly smelling.

Level-3/165 P.T.O.



73. (1) You certainly did not ought to
it.

(2) You certainly ought not to have

done it.

(3) You certainly did not ought

have done it.

(4) You certainly ought not to have

been done it.

‘i
74. (1) Who was the book given to ?

(2) Who the book was given to ?
(3) The book was given to who ? .

(4) Whom was the book given to ?

75. Choose the  correct phone

transcription of the word 'Locate’

(1) Muket/

(2) Nokeit/ _ e

(3) /Nou'keit/

(4) /louket/

Level-3/165
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77'

78.

do 760 Choose the correct direct speech of

the given reported speech :
He said I'd better go b_ecause it was late.

(1) He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because

it was late."

Which of the following is spelt

correctly ?
(1) Pediatrician

(2) Padritician

addaz

In which of the following sentences do
we need to insert the definite article

‘the’ ?
(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.
(3) My father put his foot down when
I said I wanted a car for my
seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the
above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/ 165
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A
dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it | How few have it, how little do

“they or others know of it, except from the

infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The wvulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of

mental instinct, that feels the air of truth

~and propriety as the fingers feel objects of

touch. It does not consist with ignorance for
we cannot prohounce on what we do not
know; and ‘on the other hand, the laying in
of a stock of knowledge, or mastering any

art or sciefice seems to destroy that native

c warp and trammel the
: of mind which is

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T.O.
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82. What is not a requisite of common Direction : (Q. Nos. 86 to 90) : Fill in the
sense ? blanks with the most suitable option :
(1) the utter absence of all
pretension 86. ......... child should learn to read and
(2) bigotry and narrow minded write.
notions (1) All (2) Every
(3) truth and propriety (3) Whole (4) Both

(4) an unbiased freedom of mind

87. Can I ask your ..........., do you think

3. Which of th ing i
8 ich of the following is not stated TV violence is harmful ?

by the writer in the passage ?

(1) Affectation destroys common (1) opinion (2) favour

sense. (3) question (4) advice

(2) Common sense requires the

utmost simplicity and sincerity. 88. Where is my wallet ? I left it .............

(3) Common sense feels the air of the kitchen table.
truth and propriety as the fingers
feel objects of touch. (1) at (2) in
(4) Common sense destroys - the (3) on (4) by
‘ native simplicity and warps and
trammels the freedom of mind. 89, Take some medicine and the pain will

84. Fill' in the blank with the
appropriate word : W - @ off

Common sense has been well

e (3) out (4) away
pronounced to be ‘fairly worth the
8BVEN wonmsnmae

90. The walkers finally arrived at their
(1) Notions (2) Sciences

destination. They ............. all day, and
(3) Talents - (4) Wits _ they certainly needed a rest. They ......
thirty miles.

85. Which is not a synonym of the word
'pedant' ? (1) had been walking; had walked

(1) dogmatist
(2) formalist
(3) perfectionist
(4) down-to-earth (4) have been walking; had walked

(2) had walked; had been walking
(3) walked; walked

Level-3/165



(19) A
AT - IV/PART - IV
3%/ URDU
fder : e gedt  FuT &7 & v g98 o Reey g -
‘e PPN LSS5 95 ‘i Vel B 91
S Hef W
) e @
U@
i H @
- /Uaﬁ; il (3) 2w @)
Ui (@) ol e £ (50 02
| ) $sB
e ST iksl .96 a2t ©
Sl Up (1) bl (3)
‘ Aok (@)
sz () : .
' UL LS .93
a0 adda¥i.
Syl @ )
7SN
?‘:;.,Z/"sulﬂ_.,o/u/ f:l;v’JCL, .97 LK (@)
2L () S BRI e S S i .94
ﬁuul{g,é (2) j}fiﬁ a
FAT @ NyC)
e @ < 3
Jb-Tsf (4)
Level-3/165 P.T. O.




LRSI LA by
LI p &0 B
?“‘(J{/'%:
Gafe )
Jir @
b ®

A g @

NPV ATy
29 (1)
Zx (2
@)

ol @
el lf " Ao’ W

s ( d d J}‘tdﬂ
VgLl 2a a

(
Shls O
N T

?q-JéJJJK B3
B (1)

Gtbsglf  (2)

di8e 3
Sy @

Level-3/1656

102

.103

104

105

(20)

e U S U2 67 98

e ,JJ ifyt‘;ﬂd:bﬁ
Lo
oy

:}/;Jslg,f Aﬁ

ey
@
@)

)

UYL b 8

e zr
Ubg.f T

U’JL&G‘#{.‘J

&)
@)

(©)
“)

99

?uggfaieégjd#&;_d‘sﬁl(&ﬁ: .100

(JUJ’:’

e
Jos!

@

@

3

)

?Jﬂzx’é)c:;.(téC;"Lsuluf,gféu{;ﬂ:}.wl 101

A
JEE
t.zf,;'uz»‘”

/Eb', Cusly

D
2)

®3)

“



(21) A

&I S s 110 UL G 6 106
S eesd )
. _ 3y @
ffvs @
$sl 3)
B: berd @) SEA (@)

e @
‘L Gl a1

?J'L‘/T;:w,«w,td’utu:ml 107

L2k Q)
Sz (D) . |
| Sdtil=l>  (2)
> @ )
, ® SAUL @)
5 @ e @
B 9 e Aot pwuzss 108

‘e s 65007 U 112

' $rdek (1)
w» adda=1

$iledsl (2 | fﬁ,&g’ @)
St @ VT @
(ISP () __ e PR Ui 100
‘-‘..Ulf.s"é_u’;}’; -‘Jm,,‘,;‘;@muf’ 113 | U Q)
el (1) bt @
Grigldy () -
V)
Sty (3)
BT U @)

Level-3/165 | P.T.O.



v g)&f& J i...w‘_)/ d}r‘; el

L7

Foe
JF ®
<~/ @)

G Lnl L
telZ ()
Loy @
LJ? (3)
et @)

2 Ve 1dne s S PP

gl

Ui+ (2

sdl )

e @)
?‘L.atj’fu/ :rlf(Ju:'.';uJ’
S

Gy 1 (2)

SATETZ @)
$PE @)

Level-3/165

(22)

- e tlirey” pukeLy
28z
d’l:TULﬂJJ/ (2)
¥ O
S @)
‘e e e kLI LS
119 P
@
"I
Pl @
?‘,;-J’f’i‘ U:{c.réﬁmia_%

120 _

: 1220 (1)
a d d a St (@
Fuisds @)
7 @)
121 ‘-'c;—dst%/ ST
)UTJ:) Z Q)
LAt @
Smizdé @)
;T}Truﬁuy (4)

114

115

116

AT



(23)

Ll UL 126

e Q)
SN ))
N PRNG)
A @

e /L6t G a2
SV Q)
Jor @
Wil (3)

s (4)

BUUFU ek 128

)
i (3)
A (4)

W EE T U 129
P ¢ ))
£JB @
£ ©

Sk (D)

Level-3/165

s d d S
v ddda 2zl |

e AKUBPLY Grn
e
;ETth’ﬂxitur 2)
S (3)
b (@)

St p b Len fL
Jsdugs”

w5 @
sl ©

Ol @)
11 5

Jirk (1)

(3)

& @

?;‘_,_ﬂ__;;.v‘/‘_‘ﬂ;( =duny
g (D)

Jt @

s (3)

I N C))

A

122

123

124

125

P.T.O.



S EVL WS 5 134

LW
24 (2)
errl
JE @
& L mady 135
MAS ()
B (@)
Ay @)
Ut )
feis of 15 oL G2l 136

Sl 2, 3[5/4:- S
S eGPl i
EVINGY
S @
A @
= @

Level-3/165

d

(24)

St L i W3

)

P @

Saluoh) @

d;—‘ﬂ"f.:;u (4)

se Wiy S

e

mpkds @

eJE B

JbIE (@)
L?,}J%:ii.bzr(fdi’”zklﬁhdrlf
s LS
dazy% o
7@

okt @

s @

S brt ot P L s K e S 5 i
2 (1)

PR

Shis  ®)

o @

.130

131

132

133



Level-3/165

(25) A

ek Pl 140 eSS 187
PSS9 4U TS (A ¢)) &/ O
& =2 @ o @
TS2NE)
I K¢ bs  (@3)
a1l (4)
w4 SN sl A imse 138
s-:‘_g’(w,»mﬁé;.é 141 gy )
SHir ) =
Jike @
;12 (2)
sE ® g5 ®
| 4 \

» adda i1
i ST Ll W I, 139
I TING)
e @ ST @
SE ® @)
S @ =l @

P T 0%



el St It 147

VL U 5 148

?g.;z"" d:'/c..rl:éim/' O 149

S J‘ I
U?J bel>t
}rul‘;uig

Sule

?‘;.tw’éﬂﬂgzr(”dﬁ 150
Y
Auf @
S @

sl (4)

(26)

1)

@)

(3)

4)

4

)

)

(1
-adda
(3)

SV L S
Wzt (1)
uu.i_/_-}b/.f ©)
Wi S (3)

e S f (4

e JESS St o

o)

A @
1 )
by @

e SEI I
;wrﬁ)ag.gti (1)
N F3% (2

Sb o ®

o7 @

fe U 64-’«')‘3]’?;&0 Loy
kST
LT @
eLLifud @)
Edse @

143

144

145

.146

Level-3/165



(27)
Y% B & o/ FOR ROUGH WORK

A
addazy



1vas.

10.

1.

12.

13.

14.

15.
16.

17.
18.

19.
20.

ferara T &

O e O 6
g gRT fRar M SR Ted =@Er @e, afy SR oard
A B e yeRr ¥ AR €

. Wil IR BT OMR IR TFAG W & 3 @)

IR sfrd #| IR e B WA ISP
(whe Toys) @1 gaT g €1

. @E U @ farg Ry v ar Rewt § 9 s e

A /dTel dfcl @rze 39 JA W | F G SR
% g1¢ 99 9gaT T8l O "l ® |

arwreft Y 5 30 IR uHe @ AT 9 WY ud
IH R PE g Fram 7 et | apefl s g
IR gFE A PuiRe wm @ sfefRed s 9 fod |

e Td IR GFG P T N, e
fre A uRRerfy % (@Saer qem gRae 78 I T=E &
e % ferar @ Rafa & srew) gunt o giaar
de gvaer et svarg et/

e /SR FE A &y U wHie B el a8
awgﬁﬂmmﬁqaﬁﬁ!ﬁl

ar=reff @Y ofen efel/®e § yaw @S & Afafaw B
YHR B qregardl, 1 BRI BrTS A Ui,
IR, AEd B e Sumeer a1 fadl o geR
P A BT A A G ST BN @) AR T 2
qied gRT g8 WM W WS apeil st

(e o) fRamd |

@ oo T weeE B @AEN sEEl B

arereff uET eI A BIS |

HIERT GHAEE B JTAT IR TTD faer vd eifor-
ﬁ_mugmmmmﬁm e gfe el
IS | afe fad anweft 3 R AR eIr-u W EwEr
e A g " W 6 S99 SR uEd A8l
dierar & 3R U8 WA T AHSAT HEAT S |
OMR 3% 737 4 v gY Afeer srffal grr
grd grr g goy rfal grT ard &R @ SIS &1 A9
A W & S FT e & WHY g9 &g &l
e v o [ wrE wet arar A & eng T et
e @ HrEr 7 ar ga sifee & 7 8 agd FH |

gl / exrarferd aReers @ SUANT afrd 2 |

qder g § arERor @ forg apgel faafrer § § wE
yfpar /Ran-frds 7 @ @& Wit ol v s @

& farg OMR STR U5% TR Hacl UFH ga P 8l G TE
/ 3ifpa &
EIE

fady e | ARl B Wl Al B B
4 @ st e D ITUR BT
fred graa ¥ oden gRa@T R STR uFAS BT DY GHT

3T F BN |

e o B W, st BE/Efd BIsY § @ SR
YAE Pei— P afagy A 2| aneff s |rer 3|
e gRa@T B o S FHd € |

6.

10.

1.

12

13.

16.

17.
18.

19.
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0O ©

The answer will be treated wrong, if it is marked, as
given below :

@ ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.
Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

andidate must show on demand his/her Admit
o ) to the Invigilator.
, 'without special permission of the
n t or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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